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¥ 1-1
27 x 6% =3" %12
k<.
WA DRI RIL, FER
22 x6° =22 x(2x3)° =28 x3°
3" x12° =37 x (22 x 3)" =2% x 37+
THDHMND,

8=2b Cla=2
6=a+b  |b=4

X oT, 22x6°=[3% x12¢4].

17 1-2

EINp Gy
288 = 2° x 3*

kv, 288 DIEOKIEIL
2°x3% 20x3' 2°x3?
2'x 3" 2'x3! 2'x3?

25x3" 25x3' 25x3?
D6x3=[18]fHTHY, ZhEHTTORIL
2°%x3° +2°%x3' +2°x3°
+2'x3" 42" x 3" 42! x 37
.
+2°x3" +25x3" +2°x 37
=2'x(3"+3" +3)+2'x(3" +3"' +3%)
4425 %3 +3' +39)
=2° 42"+ +2°)x (3" +3' +3%)
—~63x13=[819]
Thb.
F7o, EOKHEDO L, EHETHDH DI
2°x3" 20x3?
22x3" 27x3?
2'x3" 2'x3?
D 3x2=[6|THY, Lo
2% 3" +20 % 37
+2'x3% 42! x 32
+2°x3% +2°x3?
=2"% (3" +3%)+2°x (3" +3*) + 2*x (3" + 3%)
=2 +22 429 % (3" +3?%)

= 21x10=[210]



